Manuals+ — User Manuals Simplified.

MONSTERTECH 0078 Flight Stand Instruction Manual

Home » Monstertech » MONSTERTECH 0078 Flight Stand Instruction Manual ™

Contents

1 MONSTERTECH 0078 Flight Stand
2 GENERAL ASSEMBLY INFO AND HOW TO
3 UNIVERSAL CONNECTOR
4 PROFILE CAP ASSEMBLY
5 ASSEMBLY
6 installation
7 intend to used
8 OPTIONAL PEDAL EXPANSION
ASSEMBLY
9 Diminssion
10 WARNING NOTICES
11 Documents / Resources
11.1 References
12 Related Posts

MONSTERTECH


https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/monstertech
https://manuals.plus/monstertech/0078-flight-stand-manual.pdf

MONSTERTECH 0078 Flight Stand

GENERAL ASSEMBLY INFO AND HOW TO

PROFILE NUT

HEX KEY SET WITH BALL HEAD + EXTENSION OR SIMILAR REQUIRED



UNIVERSAL CONNECTOR

Oy

pre-assembled
universal connector

[loose fit)

- s|ot nut M8

o g,



BOLT DIMENSIONS AND HOW TO MEASURE THEM [mm]

35 25
M8x35 . M8x25
:] 3 0 =\ Y
= 1-(.":\'- j-‘f £

PROFILE CAP ASSEMBLY

SCOPE OF DELIVERY



Joystick or throttle plates
as choosen at your order.




PEDAL EXTENSION SCOPE OF DELIVERY



ASSEMBLY



Ly pre-zzsemblad
iversal connectar




4y feat

by
4 flat nut MB (883 E{c;‘tqgut

dx spacer Bmm B3 @

tighten nut
after height
sdjustment

height

adjustment

for uneven
floor



2y prezssemiled
universal connector

installation



Wi gzg

&
| 8x slot nut M2
detziled view into the 520mm profile slots

[2 into each slot]
4x slot nut M8
into hotizontal profile [front

and rear of the upper nut]







@ 70mm profile

@ T0mm profils

i Y
Bl 2x pre-assembl=d

LY universal connector

universal connector

l 5 2x pre-zszemblsa
L

T0mm profile

detailed visw

2« pre-assembled
universal connector



intend to used

{

put on the profils caps

OPTIONAL PEDAL EXPANSION ASSEMBLY






washer
@18

Move the parts into the
necessary position for

maunting your equipment
before tighten.



I
E

@8 flat nut M8

B8 spacer 5mm

G, washer @24

turn ower

slot nut M8

tighten nut
sfter height
adjustment

height
=djustment

for unsven
floor Lo



Diminssion

dx universal
connector

Mave ta the desired
position before tighten the
universal connectors.

WARNING NOTICES

CAUTION!
Do not clamp your fingers while assembling the flight stand.



CAUTION!

Check before usage if all screws are tightened.

CAUTION!

Check before usage that the mounting plates are screwed on tight after making height adjustments.

DANGER:

Contains small parts not suitable for children under 3 years. Only suitable for children over 12 years and adults.
All MTSIM products are hand assembled and quality checked. The mount is designed for usage only with a
computer controller (e.g. joystick or throttle). We exclude liability if the product is used for purposes other than
intended. MTSIM shall be liable for damage arising from causes other than the detriment to life, body and health
only to the extent that such damage arises from wilful misconduct, gross negligence or the culpable violation of a
fundamental contractual obligation on the part of MTSIM or a vicarious agent (e.g. the delivery service) of MTSIM.
Any further liability for damages shall be excluded. If you have safety concerns or questions regarding assembly,
contact us under info@mtsim.com or visit www.mtsim.com/en/

Documents / Resources

MONSTERTECH 0078 Flight Stand [pdf] Instruction Manual
0078, Flight Stand, 0078 Flight Stand, Stand

References

o " MTSIM — MONSTERTECH — Simulation Design — Offizielle Webseite
e " MTSIM — MONSTERTECH — Simulation Design — Official Website
o " MTSIM — MONSTERTECH — Simulation Design — Site officiel

Manuals+,


https://manuals.plus/monstertech/info@mtsim.com
http://www.mtsim.com/en/
https://manuals.plus/m/ae6baf2481c7c97b70dc860ef01c70d539b112811c93f017edadf7da39f2611f
https://manuals.plus/m/ae6baf2481c7c97b70dc860ef01c70d539b112811c93f017edadf7da39f2611f_optim.pdf
http://www.mtsim.com
http://www.mtsim.com/en/
http://www.mtsim.com/fr/
https://manuals.plus/

	MONSTERTECH 0078 Flight Stand Instruction Manual
	MONSTERTECH 0078 Flight Stand
	GENERAL ASSEMBLY INFO AND HOW TO
	UNIVERSAL CONNECTOR
	PROFILE CAP ASSEMBLY
	ASSEMBLY
	installation
	intend to used
	OPTIONAL PEDAL EXPANSION ASSEMBLY
	Diminssion
	WARNING NOTICES
	Documents / Resources
	References



